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Since they saw that they scorned them — 772 9919TRT 1T 192

OVERVIEW

WX 27 taught that initially (even after the 372 n%1n2 received mXn "7 for her 712102)
the 172 nInoX received only a mn; however when the 0on saw that 172 *21911 they
enacted that she should receive o>>nXn. There is a dispute between >"w7 and N190IN
as to the meaning of 172 *9191.
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>'""w9 explained that it was easy in the eyes of their husbands to divorce these
D°1770 NINOR, since their 720> amount was small —

MooIn asks on >"wno:
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And this >"w19 is difficult for initially (when they were j7n% a 72102 of min for an
(J72) manoR, they also knew that it would be easy in their eyes to divorce them
since a ;111 is considered a small amount —

mooIn offers his interpretation:
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And it is the view of the "= that 72 7191 means that some people were

refraining from marrying the o°173 nmnx -
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Since these NM11n2X were deemed insignificant in their eyes, for their 721> was
only a fourth of what a 775 n»1n2 received -
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So the o»o11 enacted that the 0°372 nIM?XR should receive two hundred for their

12109, however -
- *HnY MYINa Yy DT DINDP 191 29907 11199391 SYI9T 1INT 19D

bt A,

> Why did they first realize this only after they were Jpn» a 7210 of mkn '7 for a 79902 (if we assume that a 737 is a
vy 727, then the people were always not hesitant to divorce the N33 N1IR?XR [even when the M7 received o nxn],
since a 1111 is a LY 127)?!

3 372 *91911 does not mean they would easily divorce them as *"wA explains, but rather they would be reluctant to
marry them.

* The fact that their 72105 was so low (in comparison to 2°375 n71n2) indicated that their value is minimal. However
before the mapn of NMXn '7 for N1 MY, the MITD MIRHR (whose M2 were a 73n) were ‘worth’ half of the m?1n2
(whose n121n3 were 0»n&») and were not deemed m%p so the people were not reluctant to marry them.

> The people preferred YX7w° M2 over 23712 NIAYX since their 72903 is the same. The people were willing to marry
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Since the o151 saw that people avoided them completely and they would rather

spring and give priority to marry the ®X=w»> n¥»na -
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And no one was eager to marry them; the 2°nor reversed it to the initial ruling

that she receives a 1711 -
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This explains why initially the X723 mentioned “»191% which means they were
reluctant to marry them but they did not avoid them completely, but

afterwards (when their 72102 was 2°nX71) the X712 states “w92Y, meaning that they
avoided the 0°170 MR completely and no one would marry them.

SUMMARY
According to "wn the term 172 21711 meant they were quick to divorce them, while
according to Mdo1N it means that some were reluctant to marry them.

THINKING IT OVER
Are the different expressions of 72 “%1om' and "a»rn Pwd', more readily
understood according to >"wA or according to nooN?°

the 7117 only if the 72103 payment is less than for a SXw> n?n2.

% See “Thinking it over’.

7 In summation; initially when the n¥»1na received 2n&» and the nanoX received 7X» there were no problems. When
the M?1N2 were raised to MR '7 and the MoK remained at X», fewer people were eager to marry NIN?X (so it was
difficult for mn?x to get married). They therefore raised the 7322X to 0»nk» (to bolster her status), but that had the
opposite effect; now no one wanted to marry them (they would rather marry 2X7%° m?1n2 instead, who also received
(only) o>>nxn). Therefore they reverted back to x» for the s NIAK.

¥ See *"1.
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